Let op: beantwoord een open vraag altijd in het Nederlands, behalve als het
anders is aangegeven. Als je in het Engels antwoordt, levert dat 0 punten op.

Tekst 1 Avengers: Infinity War

‘Perhaps even pedestrian crossings that make you wait forever for the
green man.’ (lines 7-8)
1p 1 How can the tone of this remark be characterised?

A

B
Cc
D

as doubtful

as matter-of-fact
as pitiful

as playful

1p 2 Which of the following is mentioned as a drawback of the film?

A

B
Cc
D
E

It has a thoroughly unoriginal and boring plot.

It is ultimately too violent a movie for the reviewer’s taste.
It will be difficult to come up with a plausible follow-up.
The storyline is far too complex for the average viewer.
There are hardly any likeable characters in it.

Tekst 2 Range presents a risk

‘Range presents a risk’ (titel)

20 3 Noem twee praktische suggesties die Carl Jones doet om dit permanent
op te lossen.
Geef antwoord in het Nederlands.

1p 4  Which of the following fits the gap in paragraph 3?

A

B
C
D
E

HA-1002-a-23-2-0

As a result
For example
Furthermore
In fact
Nevertheless
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